6.2 Properties of Radicals ,
The first thing we are going to talk about is called the principal square root. Basically when you are asked for a
?" ‘re root, it is assumed that the person doing the asking wants the posntlve square root, which is what we
Ce.. the principal square root.
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Why do you need + when taking a square root to solve an equation?
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Cube Roots

A negative inside of a square root leads to an imaginary answer. That is not the case with cube roots. If you
cube a negative number, the result is negative. This means that we can have negative cube roots that are still
real numbers.
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a. ¥-27=-7% b. V64 = 4 ¢ V-343=-77
d. ¥Y—1000 = - (O e. V125 = 5 ->‘1'. 3]
Imaginary answers come from a negative under a root with an @_yf_f\_ ‘-!;«‘AQJ\(‘ ’

Simplifying Radicals
ﬁps to simplify radicals
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Variables change things a bit because a variable can be positive or negative. Remember: when you are
asked to find a square root, you are being asked to find the principal square root, so it is possible that

you will need to restrict your answer to only positive numbers. To do this, you use absolute valuesin /"
your solution.
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When to use absolute value signs *All conditions must be met in order to need absolute value signs
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